MA 15800 EXAM 2 FORM 01 FALL 2016

1. Evaluate e~%1%% to four decimal places.
A. —-1.9310
(B) 0.8650
C. 1.1560
D. 2.5090

E. It does not exist

2. If $16,100 is invested in an account with an interest rate of 4.5% that is compounded
continuously, determine the balance in the account after 5 years.

A. $21,841.66 ot
B. $12,856.11 A= Ve r=.,045, t=§
C. $19,179.06 P=lb, oo
@ $20,162.40 |6, 100 & 2491S) TR

E. $22,961.51 > '

3. Find the minimum value of the function f(z) = 322 — 182 — 9

A. 18 - _ % _ B .3
~36 08 A TN
o Pl3)= 33 - 6(3) ~9 = 36

E. 90
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4. Find all intervals on which f(z) > 0, where

f(z) = (z — 16)(z — 19)(z + 15)

@ (~15,16) U (19,0) e | @ |1© 1@
B. (—15,16) U (16,19) “le IS ° lo * 19 £y
C. (16,19) U (19,0)

D. (—o0,—15)U (16,19)

b| -
E. (—o00,—15)U (19, c0) st | He) y-1a | yuis| §60
~le | & @ e &)
o| @ &) < ()
3 i > C) G>) &
'Lo} @ j ® > &

5. Which of the following is true for the given rational function?

z® + 822 + 16z
2 —4x + 3

fz) =

A. There is one hole, one vertical asymptote, and one horizontal asymptote
There are two vertical asymptotes and one slant asymptote

C. There is one hole, one vertical asymptote, and one slant asymptote

D. There are two vertical asymptotes and one horizontal asymptote

E. There are two holes and one slant asymptote

doq (hp) = degloothn) +| = sk

0= Xidx +3 = (x-0)(1-3) = VA G ¥, x=3

6. At a price of $380, an airline can sell 250 tickets per day. It is determined taht for
every $20 increase in ticket price, 5 fewer tickets will be sold. At what price should
the airline sell the tickets to maximize revenue?

&) $690 n= # of %% mereases R= Pe ( qwh_*js
B. $630 236 +25
= +
C. $750 ? 5" g R=> (38’0*-’20@(7,51; —5,\)
E.. :(:51(()) L = 95000 +3100n — [O0ON

-3)ob e
3 'L(*loo') =156

| P= 380 r20(I5.5) = b0 (
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7. Find the z-value at which the graph of f(z) crosses its horizontal asymptote.

2 2244 -
o {fraty e

@ -3 Fxt- 2x+d
=5
B. % XT+EX +4
C. 2
D, 2 Fu®-Lxwd =Pt +5lx 063
5
E -2 -59 = S¥x

A
5%

8. How much money should be invested in an account that has an interest rate of 2.05%
compounded continuously so that at the end of 22 years it has a balance of $49,000?

—_—
A. $23,345.87 A= TPe'® r=,0106S
B. $25,640.17 F=21
C. $28,395.21 49,000 A= 49q o000
D. $42,658.23 Co2esX22) *\?\, 111.55] p=7
(® $31,212.55 £ — '

9. You have 2800 feet of fencing available to enclose a rectangular plot of land with one
side along a river. No fencing is to be used on the side of the field containing the river.
Find the length of the shortest side of the fencing that will maximize the area of the

enclosed field. P= 2306 = x4y

@ 700 feet 1 —-? \‘:_ ?,.?00 "‘ZX
B. 350 feet X ¥ N
. 1400 feet | A=xy = % (2800—2¢) = 23Oy —Lx

C

D. 560 feet -b ~2800 r"—ﬁ
= —— =\F00 = X

E. 175 feet 22 (-1

4 Y= 1Boo-URe) = oo
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10. A projectile is fired upward with an initial velocit of 416 feet per second. The height
of the projectile is given by the equation h(t) = —16t% + 416t + 65. Find the maximum

height of the projectile. -

A. 2804 feet h( ‘Za)
2769 feet b Yo

C. 2754 feet 22 % T T 1%

D. 2749 feet

=136
E. 2779 feet h(12) = -le(13) + Yle(1D TS T
11. Find all intervals on which f(z) > 0. Sl Bl = =B =06
flz) = 3?_“? x=-Y, x=€

B. (8,00) Ty g e

@ (—OO, _4) U (8) OO)

D. (—4,8)U(8,00)

E. (—o0,—4)U(—4,8) U (8,00)

_ ) _ 4x + 8
12. Find all of the horizontal asymptotes of f(z) = 180+ 12
A y=-2
0 O bottom
® -0 dg ¥ > %3
C.y=2 = Hh=o
D. y=-6
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4
13. Find the inverse function f~! (z) of the function f (z) = zi— -
z+7
A' f—l(x)=$_4 - \,"-q
—4 x> —':‘:}-
B. f‘l(m)=z+7 N
o fiiey=ET x(y-3) = y+4
z
x+41 XN=FIx=yt+y
1
D. f7(®) = 7737 xy-y = Fx+y
) _ Tz +4
& @ =55 (=N = Fx+d
'-hn-q
14. Simplify the expression.
(631: +e—3z) (631: _ 6-31)
© -3
A 7 - € 8 _eax X A= e—'!»(q-‘hl- e—‘&x “3x
B. e —2+e 6 »
C e91:2 e—~9::;2 = e _ e‘b&
D. €° —2+e‘91
® -

15. For the function f(z) = v/z2? — 36 find the range of the inverse function f~!(z).

A. [0,00) = demoyn
B. [-6,6]
© (coo-6Ufio0)  D:(-80,-6] VLL, 80)  (mchide 26 sine
D. [6,00) Yhes r,d o =0)
E. (—o00,00) ® | o e

-6 —;\' xt-3¢



